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#1 MogennpoBaHue BpeMeHHbIX PAOO0B

KoanpoBaHue curHana A

3 Sk clear 22 $ ADC Parameters

3 — close all 23 — r = 12;

3 — A= 5; 24 — Umin = -5;

4— £ = [50 100 150 200 250]; Sy Tmax =i

=L T = 0.0001: 26 — Xade = (X - Xmin)*(2°r - 1)/ (Xmax - Xmin):;

2L = D0AE: 2 — Xédcn = (Xn - Xmin)*(2”r - 1)/ (Xmax - Xmin);
28 — figure

i t = 0:T: (N-1)*T; 29 — h2 = plot(t, Xadcn, t, Xadc):;

b X = 0; 30 - set(h2, {'LineWidth'}, {2;2})

i i Xmin = -A; 31— x1lim([min(t) max(t)])

10 — Xmax = A; 32 — grid on

B — for i=1:1length(f)

12— X =X + sin{(2*pi*f{i1i)*t);

13 = -end

T X = A*X/length(£f);

15— Xn = X + randn(l, length(X), 1)/5;

6= figure

LT = hl = plot(t, Xn, t, X);

TH = set(hl, {'LineWidth'}, {2:;2})

19 — Xxlim([min(t) max(t)])

20 — grid on
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XadcTprev = XadcT (i) ;
XadenT (1)
XadcnTprev = XadcnT (1) ;

else
XadcT (1) = XadcTprev;
XadenT (1) = XadcnTprev;
end
end

(Xn(1) - Xmin)*(2"r

Tadc = T * 10; 54 figure
k =-Tadc J P; 55 h3 = plot(t, Xadc, t, XadcT);
XadcT = zeros(length(X),1); 56 set (h3, {'LineWidth'}, {2:;2})
XadcenT = zeros(length(X),1): 57 xlim([min(t) max(t)])
58 grid on
XadcTprev = 0;
XadcnTprev = 0;
—for i=1l:1length (X)
i1f (rem(i,k) == 0)
XadcT (i) = (X(1) - Xmin)*(2”°r - 1)/ (Xmax - Xmin);

- 1)/ (Xmax - Xmin);



E‘ MopaenunpoBaHne BpeMeHHbIX PAOO0B




E‘ MopaenunpoBaHne BpeMeHHbIX PAOO0B

60 —
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figure

h4d = stairs(t, Xadc, 'LineWidth', 2):;

hold on

stairs(t, XadcT, 'LineWidth',
xlim([min(t) max(t)])

grid on
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YTouHeHue moaenu AL

69 — XadcTR = zeros(length(X),1):;

70 — XadcnTR = zeros(length(X),1):;

71

T2 XadcTprevR = 0;

73 = XadcnTprevR = 0;

74

75 — [=for i=l:1length (X)

76 — 1f (rem(i,k) == 0)

77 ke XadcTR(1i) = round((X(i) - Xmin)*(2”r - 1)/ (Xmax - Xmin));
78 — XadcTprevR = XadcTR(1) ;

79 — XadenTR (1) = round((Xn (i) - Xmin)*(2°r - 1)/ (Xmax - Xmin)):;
80 — XadcnTprevR = XadcnTR (1) ;

81 — else

82 — XadcTR (1) = XadcTprevR;

83 — XadcnTR (1) = XadcnTprevR;

84 — end

85 — end
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YTouHeHue moaenu AL

- | Kade = | XadcTR | 4' Xadc | XadcTR |
i1 2048x1 double 204851 double
1 2 1 2
1 2.0475e+03 1 0
2 2.2400e+03 2 0
3  24297e+03 3 0
4 2.6137e+03 4 0
5 2.78%4e+03 5 0
6  2.9543e+03 6 0
7  3.1060e+03 7 0
8§  3.2426e+03 8 0
9  3.3621e+03 9 0
10 3.4633e+03 10 3463
11 3.5450e+03 11 3463
12 3.6064e+03 12 3463
13 3.6472e+03 13 3463
14  3.6675e+03 14 3463
15  3.6676e+03 15 3463
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94 — (2°r - 1)/ (Umax — Umin)

95 — figure

S6 — plot (t, XadcTR - XadcT, 'LineWidth', 2)
97 — X1lim([min(t) max(t)])

Command Window

ans =

405.5000
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